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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Name of the
Test:

| Departmental Test for the Ministerial Staff | i
of the Department of the Economics and | 075
Statistics (Without Books)

Maximum Time: 2.30 Hour Maximum Marks: 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
QamenGM eUems QI6TTTSSTeT

Read the following instructions carefully before beginning to answer the
questions.

NeTESEE&HE Nl WeN&HesH QSHTLRIGL (6T SLD&HE&IIL. Ml ensem s
SHEUTLOMSL Ulg H&61LD

1.

This computer based Test contains 100 number of questions in objective
Type.

Ahss el culfls CaHIaumegl, 100 CQHTEGM cumSHUNELTET NETITSH&HEDENS
AL (100 ()

. Answer all questions. Each question carries one mark

METHSH NMTESEREGD el wefdasald gpeutleum(p alarmalld (b
SIICILIETTT 2 6L LLIG).

In case of doubt, English version is the Final.

alemésHefley #hCHHLD @QEullstr gmhdler eugaled QaTEHESULL (HeTen
eNenn&&5Ger @mIHUITErTs).

Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

Ans eNerdsefled QLD QummieTer Su6 LTEOl6sISHSHeUflest euUMTHens Hafed
Coemeuliig 6,  HLIGCHMU  Quets  UTeOlsTSHSHeulesT  6UMTE6M& & EHLD
SILRIGLD.

. Before answering the questions in CBT, candidates should read the following

instructions displayed in the monitor:

eNeguierugnyi&en  Heunefl eulfls CoialmE el wealéEsd &I mEGLD
et seumeflullesr  HevguNled  CHMTEIMID  SIMNQUEHNHEMET  HEUGTLDTEL
Ul && 6D

a) One question will be displayed on the screen at a time.

@Gy CrrsHdled cp@m elerm WL (HCW sHaNefld Henpguiled CHmeTMLD.

b) Time available for you to complete the examination will be displayed through

a countdown timer in the top right-hand corner of the screen. It will display



1[4 “Statistics may be defined as the collection, Presentation analysis and interpretation
of numerical data” is the definition given by
“UereflulQwied eremugy erair eNeugrmsaer Geafluiug, <efliug, uGssTLeg WLHOHID
farésweliLg e euaTUNISSILLQTD.” 6D U TU®DWS ShHelT

(A) A. L. Bowley (B) Boddington
&.ered. Quieredl Cuimig g L6t
(C) Croxton and Cowden (D) Webster
N fréaoLan hmb GaerLen QaurievL it

2. The founder of Indian Statistical Institute (ISI) is
@rdw yereflQwed fneuarsans (ISI) Corbmelsseu

(A) C.R.Rao ’/,(B) P.C. Mahalanobis

8.2y, el 9. 8. vapeCermilen
(C) Sir. C.V. Raman (D) Visveswaraiya
gir.8l.efl. @rmnesr afleGeusveuen i

3. Which one of the method is Probability Sampling?
Epss@TLaupmidr ahs (e Hlapsse; sribs LIl samiliiy e

(A) Quota Sampling (B) Snowball Sampling
@g&& B wrdfl safliiy e pefluupg wrdfl safliy wenp
‘/\(C) Systematic Sampling (D) Convenience Sampling
peop #nihg ISR seflly wpeom ggleurar LM sewflliy e
4. Which one of the following diagrams use pictures to present the data?
Gerraupld eferdsliLLkisafld g ST smen 2 (Heubi&eT ePLD eNerésliLHE DG 2
e (A) Pictogram (B) Pareto Diagram
2_(Heu eflemdsILL LD QuALCLT euenyuLLD
(C) Pie diagram (D) Histogram
el LeNeTésliuLLb Lureued QEeueusILIL LD

5. The mention of the variate values 48, 35, 36, 40, 42, 54, 58, 60 is
48, 35, 36, 40, 42, 54, 58, 60 wHULseNar @enL Hlee

(A) 40 (B) 41
D) 45
©) 44 AP
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6. In a Symmetric distribution
F&&rrer LUreuedle
(A) mean # median # mode u/](B) mean = median = mode
gymefl # @eLfleoew # W&l gyrefl = @enflene = (p&s@H
(C) mean > median > mode (D) mean < median < mode
gymefl > @enLblaned > (p&[H gymefl < @eLblene < (1ps&p
i The mean of the squares of first eleven natural number is
Wsd 11 Gue aanselear aussnsafier symef
A (A) 46 (B) 23
(O 48 (D) 42
8. Which of the following is a measure of Central Value?
Spsaam_euhde enwwtiCurs@ jeTenel 6Tg)?
P & 8l
'_/\(A) Median (B) Deciles
@enL_Hlened LS GTLD TEuT kI & 6T
(C) Quartiles (D) Percentiles
STEULD TGN MBI & ET [RITD M) LD TGO Ml & 6T
9. The algebraic sum of deviations from their A.M. 1s
gyrefuiel(mhg efessnsafler snBHo
A 2 (B) -1
C) 1 A\ (D) O
10.  The square root of the variance of a distribution is the
@ LITeuede mmiLUTL g6 eUiT&a&epeLd
°/\(A) Standard deviation (B) Mean
S L eflewssbd LUl
(C) Range (D) Absolute deviation
2 efedsLd
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1. @, -@
—2 - represents
Q; + @,
Qa o Q] i
—— Gleury
@ + @ 3
(A) Coefficient of range A (B) Coefficient of quartile deviation
el&ad Q& smewrer elasssd C&p
(C) Coefficient of mean deviation (D) Coefficient of varation
gymafl aflesssb s wrpur (& Q&w
12.  Which measure of dispersion ensures highest degree of reliability?
<2185 BOLGS SETEDILIL 6T SaT&Eh SFn SeTenal wimg)?
(A) Range (B) Mean deviation
& gyrefl aflevssid
(C) Quartile deviation ‘/.(D) Standard deviation
smebomen eflevsaib HL L aflevssid
13. In case of Negatively skewed distribution, the extreme values lie in the
erdflew s Cami L Lgeuade, eflaflbyy UL ser SiahSmLUg
A (A) Left tail ' (B) Right tail
@rg upd aueg LoD
(C) Middle (D) anywhere
CEHEY ahs GLédaud
14.  The range of the first 10 Prime numbers 2.3,5,7,11,13,17,19,23,29 1s
2,3,5,7,11,13,17,19,23,29 eresip (pFed 10 LI&T craTsetlen eids
(A) 28 (B) 26
© 29 o (D) 27
15.  Standard deviation of a collection of data 1s 972 . If each value is multiplied by 3,
then the standard deviation of the new data is
Meugrisefiar Qsm@Liy genher S L eflwssd 242 wfaierar geu@ainm wHULb 3 46
Qupsss HanL&eb LHw leirs GaTEuber HiLealadsd
A) V12 B) 442
A © 62 D) 92
5 117/DM/23
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16.  If the variance of 14,18,22,26,30 is 32, then the variance of 28,36,44,52,60 is
14,18,22,26,30 & eloésaiiss grmef 32 aafld 28,36,44,52,60 6 cilass cuids Fymef
(A) 64 -~1(B) 128
© 3242 (D) 32

17.  Ogives for more than type and less than type distribution intersect at
Efler euerit Hapeuarub, Cuelar Hap euamereuamyub el y&CsTaT@sb @b
(A) Mean 1 B) Median

gyma GenL_Hlene
(C) Mode (D) Origin
a0 28

18. If the minimum value in a set is 9 and its Range is 57, the maximum value of the set
18
em Qsr_far @apbs LHIY 9, Sigar oiés 57 erafld QgmMer BLGL® wHLLTaTE
(A) 33 (B) 48
(C) 24 A (D) 66

19. Limits for correlation coefficient
@ Hpeys Qapeiler erévene

,/\(A) -1<r<l (B) 0=<r<1

(C) -1<r<0 (D) 1£r<£2

20. Find the median for the following data
Sipssam_auphhéE Qe flee ietey sam® iy
25,18,27,10,8,30,42,20,53
(A) 8
(B) 10

O 25

(D) 53
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2L Iftwo regression coefficients are b, =% and b, —0—90. What would be the value of v'?

F

@ orear Qeriiy CuréeE Cspéser b =% WHmID bzu% gafler ‘T @er Wiy

GTGOTGEOT ?
aw S ® 3
17 1
(®) T (D) A

22.  The geometric mean of the two regresion coefficients byx and bxy is equal to
@ oier Qeriiy Gurnée Qawssedr byxwpmnd bxy pSHuepdlar GCuBEsD

grreflunarg
‘/‘\ A r (B) r*
€ 1 D) r

23.  The regression lines are perpendicular to each other if ris equal to
o Len Qariyc Curseg Genpae gamsdsnam CemEssts Qma@nGung) ‘r’-@er

Wi
Va) (A O (B)y +1
C) 1 D) 2

24.  The Correlation between Shoe — size and intelligence
st ares@h SiMaysdnassbleL Cu o dar el Hna

/\ (A) Zero Correlation (B) Negative correlation
bR erBDay aglit @ One
(C) Positive correlation (D) Perfect correlation
Cpir gL Gey QPG UHey
7 117/DM/23
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25.

26.

27.

28.

If cov(x,y):O, then
cov(x,y)=0 erafle

(A) x and y are correlated
xLHmD y &G @eoLCw gl Hne] 2 drerg
(B) x and y are uncorrelated
x wHoIDd Y &E Qe Cu U Bney e
(C) None
@eunled ergdlevene
(D) xand y are lineary related
x,yCrisCar (g Gsrii e wg)

The probability of an event A lies between
A arairp Hlapsdluler Hlapsse; Qumib wdiy

(A) Oand+1 (B) —-1and+1

0 @adl(mBg +1 eueny -1 @l (mhg +1 eueny
(C) —-landO (D) +1and -1

-1 @a(mhg O euany +1 @a(mBg —1 eueny

If A and B are two events such that P(A) = 0.25, P(B) = 0.05 and P(A n B) = 0.14,
then P(A U B) =?
A wppn B aren @@ Hapefseiie P(4) = 0.25, P(B) = 0.05 wpgis P(A N B) = 0.14
earafles P(A U B)=?

(A)  0.61 -1 (B) 0.16
(C) 0.14 D) 0.6

The Probability of selecting a queen of hearts when a card is drawn from a pack of
52 playing cards is

52 - S (ser Qsra g SLHEsLgdBHE @B FLO a@&GLEurg @ anmil
<iréwns (heart queen) @ wLiughanear Hlapsse|

1 1
@ - ®) o

16 1
© & A0
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29. Iftwo events A and B are dependent, then the conditional probability of B given A is
AB @du Q@ sriyeLw Haspsflser aalled A g Quinss B eap Hepséufar

flupsear Hlapssey
AN B

/\(A) P(%):_P(P'(A) )

© plp)-24o8

30. Var(5x+2) 1s
Var (5x + 2) ereigy

N\ A 25 Var(x)
(C) 2 Var(x)

31. The trials in binomial distribution are
mHOILLG ureladled apuipdlserreang

(A) mutually exclusive
ReTaD Qe 6lesEeueT

(C) independent
i/\ FmTuUMHDeEn 6l

(B)
D)

B)

D)

AR

non — mutually exclusive
Qeann ey la&EsTSama.

non — independent
FITUDHDENG] H{EDEV

32. The variance of a binomial distribution is 2. Its Standard deviation 1s
rEoILL ugeueder wrpun® 2 aeafld Biger L allessid

@A 2 (B)
i
© 3 A O
33. Poisson distribution correspondents to
LUMUgeT LUTeugiL 6t Gsm_iijenL uienel
B)

'/\ (A) rare events
<flw Blepsélser

(C) 1mpossible event
penl_@um (piyuing Hlahaslser

D)

4
V2

certain event

@MU Hlapsfladr

almost sure event

Qupbureih BlFFwwmer Blapsélaer

117/DM/23
[Turn over



34. In normal distribution, skewness is
@QuaBlanels Lreuaie Garl L SieTey

(A) one (B) =zero
GRETm) A &S

(C) greater than one (D) less than one
gareppai Qufwg garenmalil Sblug

35. For a normal distribution, the total area under the normal curve is
Quablaa Hspsse| eumerGariq e & Siampwd @wrss LTy
@ o o ® 1
(C) 3 D) -1

36. The standard error of the mean i1s
gyrefuler S0 Geny

(A) o° (B) —i

a n

C) — Iy 2=

A ©n D) ~

37. Student’s ‘t’ — test was invented by
ev@La ‘t’ Gergenes wryred ey sslLlL g

(A) R.A. Fischer (B) G. W. Snedecor
R. A. Qagr G. W. evCanGlLsr

(C) W.G. Cochran ‘A (D) W.S. Gosset
W.G. Garégyes W. S. GanQel

38.  When observed and expected frequencies completely coincide y* value will be
seT_Muriur L opoib rdiumrésuu@b wHULSET (P(peugid Fob erafléd y* -er wlLiL
A -1 B) +1

(C) greater than 1 D) 0
parannellL Slsb

117/DM/23 10



39.

40.

v 2

The test statistic F = '5‘“ is used for testing

2
1

F= 82 aarn Gergener yerafl @uwidh yeteneu & Cerganear Gleww
2

uwerL (Hdlmg

(A) Hy:w =y, N (B) H,:o{=0;

(C) Hy:oy =0 iy H,:&"=¢;

By default each excel workbook contains
@Queéuns a&Geve (Excel) workbook @& @mésn ueaflisgrasefier (work sheets)
et antl&end

A\ (A) 3 worksheets (B) 1 worksheet
3 uentlggmeTaer 1 uenflgsmer
(C) 2 worksheets (D) 4 worksheets
2 LelSSTeTHET 4 Lefiggretaer
41. Range of the Correlation coefficient is
RUHne| Qapeler eriene
(A) 0<r<3 (B) -w=<r<o0
/\(C) ~1zrzl D) 0<r<w
42.  Skewness Means
FflerenLo ereTLIg)
N\ ()  Lack of Symmetry (B) Symmetry
Erren senioliL] @)eeuTenin @Cr &Fyrer SjanwliL
(C)  Uniform (D) None of these
oGy &ymar GeupmieT ergle|bléene
43. Mean is a Measure of
gyl eTem SeTen6u W TS
AN (A) Location (B) Dispersion
GNLDOUI <DHETENEL LITO|EnS DETen6u
(C) Correlation (D) Distribution
@ Hne| SeTemal LITEUG eTenal
0 117/DM/23
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44.

45.

46.

47.

48.

“

The Regression lines intersect at the point

Qariry Gurdg Carhsear el g&sbarer@Ersn Leafl
@ (xy) v B (X7)
©) (00 D) (1)

The Marks obtained by 10 students in a «class are as follows:-
40,60,62,40,38,60,43,74,60,67. Find the Mode

au@LbaueTer 10 wramelisaien WEHUGLGMTEET auHLTH: 40,60,62,40,38,60,43,74,60,67
iaupbler pab

(A) 62 (B) 40

© 74 1 D 60

Poisson distribution is
UMUJ&TEs LITeUe) eTaLig)

(A) Mean > Variance (B) Mean < Variance
gymefl > wrmur@ gymefl < wrmur@h

(C) Mean = Variance (D) Mean =S:D
gymefl = wrmur@ gyrafl = S L aflegsid

The variance of a set of number is 36, Its standard deviation is
@ GHUALL aanseailer rmuT® 36 @b, S L efllwssbd

(A) 6 (B) 18
(€ 72 (D) 3

Mean and variance of a normal distribution is
QueBlene ureuailer #yref wWHHID WLIMUTHSET 6TerLIe

@ Oy ®) (0,0%)
©  |uo?) D (10)

117/DM/23 12



49.

50.

51.

52.

53.

The test Statistics in Chi — square test of goodness of fit is given by
Qummss CebawsEgNu msaurss Corgamer euprudlu Gemgamar LiGTLIETEG

A @ 7 =Z[%}

© »-3/&E)

® »-3| %L
=

If A and B are two events. The Probability of occurrence of either A or B is given as
A -y B-y @ Aspeysearmanmed, A siweg B flapagherar Hspsse,

(A) P(A)+P(B) v
(C) PANB)

(B) P(AuB)
(D) P(A).P(B)

The standard deviation of the five objectivation 35, 35, 35, 35, 35 1s
35, 35, 35, 35, 35 odw mibg wHlyselar L allowssd srer

A) 35 1
© 1

B) 0
D) 175

To test the equality of two or more population means 1s

@ran® wHmb sHE& CoHULL (ppes
(A) t-—distribution
t —ugeuey

C) Z - distribution
( o

Z — ureued

Qsrd e srreflews Gondlés
(B) y*-—distribution

zg—urjamb

(D) F — distribution
F -upeue

Degrees of freedom for chi — square in case of contingency table of order 4x3
4x3 @evemiiLll UL igwed Qsnar. esaiés Cergamender euenry e wlliy

@) 12 “
<c 7

13

B) 6
(D) 25

117/DM/23
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54. When a coin is thrown, the number of all possible cases is
e prevwib eSetiu@bCurg ghu@b ador dameresefler aramemflsms.

@) 7 . ® 1
@€ 0 e (D) 2

55. The Range of F — variate is
F — wrdluler eiés <amg)
(A) -—oto o (B) Oto1l
A (C) Otow D) -1to+1

56. The degrees of freedom for student’s t — based on a random sample of size ‘n’ is
‘N Serey QararTL Feuriitiy sadlar g UL uld svELaey t-wldr sLGwreriiuiy
AD (-1 B) n
© (-2 D) (n-3)

57.  Which of the following is a Measure of dispersion?
SpsaaLcuphle) flgmed SjeTane eTaTLg)

(A) Mean (B) Median
gymel @enL_Hlenew

(C) Standard deviation (D) Mode
S eflevssid ALI0)

58. Mean of Binomial distribution is
mHnUY Ureueler sgrefl by

(A) npq v\ B) np

(©) % (D) n

117/DM/23 14



59.

60.

61.

62.

63.

Test for single proportion for large n, one can apply
am dssdar Cergaanied n-@er wuy dswors QnEGDOOUTE, LWETUESEULEW

Cergenan

(A) Z—test (B) t-—test

Z — Gargener t — Cengenar
(C) F —test (D) z* - test

F — Gsngenan 7° - Gengenan

Normal distribution is
@Quablere LTEITENS)

(A) Bowl shaped (B) Conical shaped

Carlienu anwliiyeL gl FnlbL QUlgeU(PEnL WG
(C) Square shaped (D) Bell shaped

&8I T6Ulq.eULPEDLLIZ) b anfl i@ wiLenL g
Kurtosis is denoted by
siGLmallen @GmLLg)
@ A (B) ;”—;
© 8 o £

A

The formula for co — efficient of variation is
rhefdss Qapeilhanar GaSrb

(A) C.V.:%x 100 ®) 100 x %
x oOXX
(C) =5 100 D) &

In a Poisson distributuion, the mean value is 5, then the value of standard deviation
18

5-m gyrefunss QamerL g uTiisre ujeaar UL dlasasder gy

A) 25 ) B) V5

(C) 125 D) 5

15 117/DM/23
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64. Which of the following techniques is used to predict the value of one variable on the
basis of other variables?
SpssarL (peanude @@ wrhulder wHlemu aeaigg wHp wrdlsefear wELLsmen (per
SETEGHID (LPEOD Y&

(A) Correlation Analysis (B) Coefficient of correlation
@erLwpe| LUGULTLUE @ ne56&p

(C) Covariance (D) Regression Analysis
@evanr wIHLITEH “ QLT LuEGLUme,

65. A Sample consists of
@ Fadler 2 mUL&ET wreyld

(A) all units of the population
wppens Csmeduller Si@eadg 2 nlLSET &0
‘/\ (B) Any part of the population
p@ewns aT@dllar o LGS 2%ED
(C) 5% units of the Population
wyaws QsrgHuder 5% @b
(D)  10% units of the population
s Qar@duder 10% G0

66. If X is a random variable E[e”‘] is known as

X —aumiitiy wrd erefled E[e“] cTeTLg)

(A) Characteristic function «) (B) Moment generating function
Aoy emrueerT HpuysHoenm &

(C) Probability generating function (D) Cumulative distribution function
Blapsse) o (heurs@b sy @efleyls LUgeued &y

67. The Population constants are called
wpend Agrarsufer wrhled ererLg)

N (A) Parameter (B) Statistic
LI GB0T L GTT 68 6L Fnf LIGRTLIGTEnG.
(C) Hypothesis (D) Sample
ar(n Casmeir gl

117/DM/23 16



68.

69.

Probability should not take the value of
flapsse| aBHsgsbsrdassm g wlureag)

(A) Positive A (B) Negative
Cprnanm erdlioenm

© 0 ®) 1
St Qe

In tossing two coins at time, the probability of getting ‘no head” is

Qranl pravwmsamer @G sowdHed @@L Curs. @R g &l
HenLsaroemLusnanar Hlapsse,
1 1
A) = B =
(A) 5 (B) :
1 3
C - Dy =
A ® 2
70. If all observations in a set are same, the average of the Set of value 1s
R sETES o drer eréen HUILSEHD Fb eTaTnT, b sargsear symafl wliy
(A) Different (B) not possible to calculate
Caupur® eLwg GeTEElL @uienrg)
(C) Infinity 1 (D) Same value
(P eflodanss <Gg U
71.  Simple random sample can be drawn with the help of
sraflu sweuTULY &bp(HEsR&E 2-56]eug)
(A) random number tables (B) lottery method
FLOWGUMIILIL| 6Teu L g uled GHYPESL (LpepD
(C) roulette wheel A (D) all of these
&PHE F&&TPOD SiMaTSgILb
72.  The moment generating function of t — distribution
t-upeuellen HmliLsSmen
(A) exists (B) always exists
o (HUGLmID ru@umpgib 2 HrEumib
'/\ (C) does not exist (D) none of these
o (HUGLDTE) @eupmer eTgia|bléene
17 117/DM/23
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73. The formula for Correlation coefficient was found by
PLOpey Qawy srarugharer GsHrsms @b Gy sseu

(A) Bowley
QueTedl

/\ (C) Karlpearson

&mired Nwirges

74.  Null Hypothesis defined as
Cengevar erQCsmer eremg

(A) The alternative Hypothesis

wrHm TG Csmer

(C) level of significance
Wensssementn oL D

o ©

Spearman
el wiromesr
Kendhall

Q& e M6

Testing of possible acceptance
ghyenLw Gergenar

Hypothesis of no difference
p&asSHEs o (HCaTeT

75.  If the minimum value in a set is 9 and its range is 57, the maximum value of the set

18.

e Qsrfer Gaphs UL 9, sigen efés 57, Qgmflear BUGCL@Gm wHLuTaTg.

A) 33
(C) 48

76.  x* — distribution is
7% -ureué GTETLIG)
(A) Positively Skewed
N Blena&CaTLib 2L wig)

(C) Negatively Skewed
GopCaT_L D 2 el wg)

1 (B)

66
24

Symmetrical
FOEET 2 ML WF

none of the above
Cupaaflu ergia)bdldame

77.  Identify the notations of the Alternative Hypothesis

wrhm aGHCarafler @GNl igemar srerms

\-/, (B) H;
(D) Ho + H;

(A) H
(C) Ho

117/DM/23
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78.

AN

T9.

80.

81.

82.

Poisson distribution applies to
umierer ureue @Gnludheg)

Rare events (B)
Ml Blapsfaer
(C) Normal events (D)
@wueurer Blapsdser
The kurtosis of a Normal distribution is
Gueblene LTeueller S L uleTEEILITENS)
(CCVRY 1 (B)
C) 5 (D)

Repeated events

Smou Smbu Blaphd Hlepeslser
Non of the above

Cuhandlu ergieydlerene

1/3

Out of all measures of dispersion the easiest are to calculate is
LITeenE HeTemeusaned seuwmear (penpuiled) samsdll & solgwig)

(A) Standard deviation ) (B)
S L eflevdaid
(C) Variance (D)

Nwés euiss gymafl

The origin of Statistics can be traced to

yatafuwe smsdHer Camdpb smemriiul L @b
(B)

(A) State
SUEL

(C) Economics
Qummefwe

(D)

range

e&a

quartile deviation
STOTET 6NeV&ELD

Commerce
cuemiaeil e

Industry
Qarflégenm

Which of the following is two dimensional diagram?
Qemeumeuameunmier ergy @ Uflomenr eflarésiuiLib?

(A) Bar diagram

Ul enL eflemsaliLLLD

(C) line diagram
Cami_ () eferdaiLL b

19

V)

(B)

(D)

Cylinders
&@GDGTT

Pie diagram
QUL L edleTdasll UL LD

117/DM/23
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83. Find the Arithmetic mean of the following set of observations
25,32,28,34,24,31,36,27,29,30

Gereumd efleugmusaier gal () syrefl sraws. 25,32,28,34,24,31,36,27,29,30
(A) 31 (B) 27.5
/‘ (C) 296 (D) 28.5

84.  Coefficient of Range is
eS&a&E6&(LY eTaTLIg)

A Li~8
W T 1 ® 135
© L-S D) L+S

85.  Which of the following is a unitless measure of dispersion?
EpsaL Hgnd jaranausalid g D@ QUDTE SeTeneuWImELD

(A) Standard deviation (B) Mean deviation
S L eflewésid gyre eflevssid
(C) Coefficient of variation (D) Range
"\ Ut (é Gaw aS&ar

86. Rank correlation was found by
sreilessd @eurme o (HheumssiuLl L gl

(A) Pearson (B) Galton
Qwirgetr STEOL_G

(C) Fisher v (D) Spearman
Geagir e QwiTGLoebr

87. If byx=—% and bxy = - é then the value of r 1s

bysz‘é, bxyzfé aafled U Ppeysblay r peang

2
@ = “ ® -1
4 2
1 1
© 5 ®) -4
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88.

89.

90.

a91.

92.

Two dice are thrown simultaneously. The probability of getting a doublet is
¢Cr Cprsdled @ usaLsdr 2l LLL@damar. usmLuler Qran® psrsaigid @Gy

cranTamTa: @)(hés Hlapssae,

1
Ay —
(A) ae (B)
1
C =
(©) : (D)
Variance of a binomial distribution is
FEHMILIY UTeuederr mmumL_marg)
(A) 'npq B)
(C)  «npg (D)

A hypothesis may be classified as
a(HCamer eraTueng @eueurm auesLIL{HSSLMLD

(A)  Simple B)
eraflugms

(C) mull v D)
@ CTEQILDT)

Probability can ranges between
fepsse wHikbear aissrang)

(A) -wandx» (B)
(C) -landl ) (D)

np

Composite
HeLEN U WITS

all the above
Cupehlss Siemadgid

—owand 0

0 and 1

The symbol for the population coefficient of correlation is
wuews AsreHular QoL unes Gawele @

@A p (B)

i

(C) R D) r2

21
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93. In a distribution, the value around which the items tend to be most heavily
concentrated is called
em ureuder ehg wLHU@UE sHH LHD earsdT dsnrs sraTLURSHDCET b
eremremsiler Guwim
(A) Median (B) Mean
@enLBlane gyne
(C) Range A (D) Mode
&8 ‘ (L0
94. The degrees of freedom which make up the statistic is
Degrees of freedom (df) ererugy wnGgefled
(A) Number of dependent variates (B) Maximum degree
s&HETLHD Wwrdleafer erameanflsms <Hla g8l
(C) Number of Independent variates (D) Minimum degree
v soparorar wrflsefer ereameamisms GMDhs g &l
95. If mean is 100 and S:D is 10, find the coefficient of variation
sl [egrad 100 wpmb S Ledwssd 10 eafld, LrpuUT. O&6&(p srams
(4) 100 v (B) 10
(C) 1000 (D) 5
96. The Median of the following set of values:- 35,26,42,62,24,14,19,72,69
35,26,42,62,24,14,19,72,69 < dw wduysefiar @eaL fHlae
(A) 69 “) B) 35
(C) 24 (D) 70
97. The power of a test is denoted by
Gengenar Hpaver @GOG G eug
(A «a B) B
€ 1-a ) D) 1-p8
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98.

99.

e

100.

v

In the regression line Y =4, + g, X, p is the
Y=0,+ p X, aranrm 2 L Qgriiiy Camliged B eremug

(A) Intercept ) (B) slope

Camiigen Fmiie] Cariiger Gleul ()
(C) Both (A) and (B) (D) S:D

@ream@m (A) wHmibd (B) S:D

A group of values 1s called
@@ waliLsa SLrdu QarEgly e mwpssliuGSns)

(A) Datum (B) Stratum
srey U ens

(C) Data (D) Mean
S6 &6 gy

Formula for the Range

e&flerr goaTUM(H)

A) L-S B) L+S
(C) S-L M) S+1L
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